ASSIEMIBILY
INSTRUCTION

CAPPUCCINO: 19545 - DRESSER
19544 - MIRROR

REAL WHITE : 22545 - DRESSER
22544 - MIRROR

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts that may have come loose inside the carton during shipment

/

L

N

/

&
HARDWARE LIST: . N
~
.
PARTS# DESCRIPTION Q'TY
&
A ) Bolts 1/4 *1-1/2 8
B 0 Spring Washers 8 {@
C ) Flat Washers 8
D \ Allen Key 1

MADE IN VIETNAM




ASSIEEMIBILY CAPPUCCINO:  19540Q-HF/ 19541Q-R
INSTIRUCTION REAL WHITE : 22540Q-HF/ 22541Q-R

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts that may have come loose inside the carton during shipment.

Step 1

Slat should be \
hex side up —

Step 3

When adjusting levelers,
allot space for weight of
mattress.

STEP |PARTS#

A

B
1

C Spring Washer 5/16 4

D Washer 5/16 x 19 x 2 4
) E Center Legs (3 PCS IN CASE QEBED) 3
3 F Wood Screw 4x30 (mm)  gwen 6

MADE IN VIETNAM




ASSIEMIBILY CAPPUCCINO: 19600F-HF/ 19601F-R
INSTIRUCTION REAL WHITE : 22550F-HF/ 22551F-R

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts that may have come loose inside the carton during shipment.

Step 1

Slat should be \
hex side up —

Step 3

When adjusting levelers,
allot space for weight of
mattress.

STEP |PARTS#

A

B
1

C Spring Washer 5/16 4

D Washer 5/16 x 19 x 2 4
) E Center Legs (3 PCS IN CASE QEBED) 3
3 F Wood Screw 4x30 (mm)  gwen 6

MADE IN VIETNAM




ASSIEMIBILY CAPPUCCINO: 19605T-HF/ 19606T-R
INSTIRUCTION REAL WHITE : 22555T-HF/ 22556 T-R

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts that may have come loose inside the carton during shipment.

Step 1

Slat should be \
hex side up —

Step 3

When adjusting levelers,
allot space for weight of
mattress.

STEP |PARTS#

A

B
1

C Spring Washer 5/16 4

D Washer 5/16 x 19 x 2 4
) E Center Legs (3 PCS IN CASE QEBED) 3
3 F Wood Screw 4x30 (mm)  gwen 6

MADE IN VIETNAM




ASSIEMIBILY CAPPUCCINO: 19537EK-HF/ 19538EK-R
INSTIRUCTION REAL WHITE : 22537EK-HF/ 22538EK-R

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts that may have come loose inside the carton during shipment.

Step 1

=

Step 3

When adjusting levelers,
allot space for weight of
mattress.

STEP |PARTS# DESCRIPTION Qty
A Allen wrench 4mm 1
. B Bolt 5/16 x 35Smm 4
C Spring Washer 5/16 4
D Washer 5/16 x 19 x 2 4
) E Center Legs (8 PCS IN CASE QEBED) 8
3 F Wood Screw 4x30 (mm)  gwen 8

MADE IN VIETNAM




ASSIEMIBILY CAPPUCCINO: 19534CK-HF/ 19535CK-R
INSTIRUCTION REAL WHITE : 22534CK-HF/ 22535CK-R

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts that may have come loose inside the carton during shipment.

Step 1

=

Step 3

When adjusting levelers,
allot space for weight of
mattress.

STEP |PARTS# DESCRIPTION Qty
A Allen wrench 4mm 1
. B Bolt 5/16 x 35Smm 4
C Spring Washer 5/16 4
D Washer 5/16 x 19 x 2 4
) E Center Legs (8 PCS IN CASE QEBED) 8
3 F Wood Screw 4x30 (mm)  gwen 8

MADE IN VIETNAM




	1: MR
	2: Q
	3: F
	4: T
	5: EK
	6: CK

